BT o0 5 e o AT 3K 2R
FLM# %]

& AL Ex

= EATEMNRNSHEERNE

B RZERTAmB. A, RRR BLEFE. B PR
HiE. BARE. B FTl

B o ATKLIE, RAK, BREHZAL

Tk
T4 AR AT RIBEE AR
= TREM

- BERE: T=-90... +400°C
- B1EE1: P=EZ=ZE10Mpa
- N REZE: = 400 kg/m?

B 25 <0.1mm
iR Z M A B R KT R EEM R
B gt

ik
A LM R SR B A ik B R B T B R A
FAFENRANENR, THRBI N FIRGELR

1.1./)””%0

£ (WIKA ) #3E#% %l LM20.01- 09/2015

i Rk

BT (WIKA) 3% LM 20.01

LEAPYYT" N
g " a ' ) W VIRV

COMMUNICATION PROTOCOL

FLMEE B a1 X AR, B &R



L2505

HRTRNNERE, BATABINR
FIR, SEMTEEETRHENEREERMER
URATHZLR, TEHEF, EREGK

ATESRANE, TN EMERAFZUHZ0E,
BN SR, NEEHREL; ENRRIERS; BE
TL; A RBESURB IR, BARVERESFS

KEEBESEH

B RFIFERER, —RRERLTHIEE
B TELHIETREERLER

B EIHARTC TR 8 R E FI R E

B EiEm
= TR

m PR SEMIEEEMRTREERAEN. K
HCE R R,
B OEBMNEEALTRERETRXS

DARIEH MR AIIEER HHE

BT O
M16x 1.5
B4R
AN
S&
1A
Y
;l-_{
i -
_— SER
i . 1R

#2/9T1

1B RS
2EEE
3R #i7

A KA
5N T

Wit R TiERE

m UEERET, B4E (2) RESTARHHOPER; BiR
AEUBRSGEZ (1) AR (3)

B OFECRFAERE L, RNEWMN, FEKA#S (4)

PBIH 3T AR a2k £ AU R (5)

VAR ESENE, HEBREERBERES

BEEOREAREN, RITE¥RNRHENRESE

(& (WIKA ) #3E# % LM20.01- 09/2015



1N

£ Hir TR
AEEIW316Ti AEEEM316L £k 22% EEEM316L
1.4404 1.4435
X X X
FLM-S HEARR -60...+185°C
— X X X
FLM-ST | =&RE -90...+400 °C
. X X
FLM-SP | #Rl# -10...+100°C
X X
FLM-H P -40...+400°C
o]
]
Exi E NEPSI | NEPSI
% Xi xd | Exg Exia
FLM-S X X X X X
FLM-H X X
B 52 A E
ATEX Exi FLM-ST-Exi  [Zone O IBExU 02 ATEX 1124 X Il 1/2G Ex ia lIC T3...T6
Exi FLM-S-Ex i Zone 0 ZELM 10 ATEX 0439 Il 1/2G Ex ia IIC T3...T6
Exd FLM-S-Ex d Zone 1 ZELM 13 ATEX 0508 X Il 1/2G Ex d IIB T3 to T6 Ga Gb
NEPSI Ex d FLM-S-Ex d Zone 1 GYB16.1433X Ex d IIC T1-T6 Gb
NEPSI Ex i FLM-S-EX i Zone 0 GYB16.1498 ExiallC T1-T6 Ga
BIFIAA]
EAC-EX FLM-. RU C-DE.GB08.B.00845
EAC FLM-. TC N RU D-DE.AU14.B.21532
GOST FLM-S 0959333
3A FLM-H 3-A D4R A 74-06
1)EF RSB
FLM-S = FFG-P
FLM-ST = FFG-T
FLM-SP = FFG-TP
FLM-H = FFG-HD

BT (WIKA) $dE%E R LM20.01- 09/2015 23/9T



B MR AT XR BFE FLM-S
SE. TRERRMRATEN

120 120
88 88

% 2~E FFG-PN B ~E FFG-PD
2 =
\ swa2
SW30 5% SW36
= | |
g et}
- =
- =
R EERE

B R %
SR BELEMR316L

FFG-PN TE=R

FFG-PD HER
BR SR ({XFFG-PD)
HRRER Y@ T =

G11/2" 5 G2" = DIN DN50...DN200,PN6...PN100

m ANSI2"...8",class150...600

SEHER 14 mm 18 mm 14 18 mm
FEAKE L 3,000 mm 5,800 mm 3,000 mm 5,800 mm
SEER #4FiSS316L,SS316Ti ( $KTTHE )

SFIRE IR 44..120 mm
FHEFRIESEMIEERE, ENE13T
AR BEATEXPBIMER KA ZER AR T 1%

BRASREEN AMPa($k# BUFER BT 2/10MPa), ¥ I 51371
BESEE

NEUEE: -60...+185°C

RERE

~HAR, TER: -40..+85°C
“EAR, HER: -20..+70°C
—Exi#, -20°C...+70°C(T6 Af+60°C)
—Ex d&!, -40°C...+70°C(T6 E+60°C)

wHES 4..20mA,HART®

R DC 15... 30V

MERE <+0.5mm

DN <0.1mm

k-4 max.900Q@30V

RHEER & H+30°

R 7RE 2 IP68 fik# EN60529/IEC60529

£ 4/971 Br (WIKA) ##E#H A LM20.01- 09/2015



HFH PRI L XS SEE FLM-ST
SE. IREERMREATFHE

052
: B9 0
i M16x 1.5
|
o
[
o !
< i
b ——mae
[
|
T
i
i
o |
~ i
J SW 30 5 SW 36
"; L G112 HG2
sl
i 100 %
|
= i
_", == S&
$ I T @12 5 18 mm
= i SRR
< i =
i3 i
i
R0
Bk
BRERE ELEH 7R304
SRR B ET
G11/2" 5 G2"
E.FEE@ 12 mm 18 mm
BAKE Ls 3,000 mm 6,000 mm
TFER #ESS316L,SS316Ti ( $K T3 )

SFIKEZ 44...120 mm

FEREFRIESEMIRERE, FRE1ST

BAEREED AMPa($k# BUEER T 2]10MPa), £ 0158
S E IR, -40...485°C
NERE:

—B2% (FFG-HT); -40...+400°C
~EE ( FFG-TT): -90..+125 °C

WHES 4...20mA,HART®

R DC 10...30V

MEREE <+0.5mm

SN <0.1mm

k=4 max.900Q@30V

RETR = E+30°

D3E7aE 271 IP68 fik# EN60529/IEC60529

137

52
t BN
i M16 x 1.5
-
|
i
|
& i
" 77
i
|
o
~
; RIEEE
o i
: 100 %
s I
e S8
% 8| @12 5 18 mm
| =l RUITS
HE
50
EERE
R=

® DIN DN50...DN200,PN6...PN100
m ANSI2"...8",class150...600

12 mm

3,000 mm

18 mm

6,000 mm

BER (WIKA) £3B %% LM20.01- 09/2015

2£5/9T1



B A R AT X RS BEE FLM-SP
SE. FEKFERM T APVC,PPZPVDF

@52 @2
: B4 0 t B4 0
| M16x1.5 : M16x1.5
i i
i i
i i
& [ e i
— | — |
i ——— #4= | —— %A
| |
! i
! !
e -
SW 36 i i i
: ; i ;
1 L F— g : ﬁ i |i RFHZ
N R i !
3T - ;
: 100 % : 100 %
iz = e =
Il | @ i S&0 20 mm kS i S& 020 mm
2 [ i |t i
| g ; oL ; -
M| S = 2% o
fs; ! i i
! !
(& ] [ & ]
FHO SFHO
BEUEE EEEE
BREE B4 BHR04
SEEE $RELE T A=
G11/2" 5 G2" = DIN DN50...DN200,PN6...PN100
m ANSI2"...8" class150...600
BEEEZ 16 2 20 mm
BAKE L 5,000 mm
SRR #1FPP,PVDF
J#ERE 1R 555780 mm
FREFRESEMIRERE, FHE18R
BRI TRE S 0.3MPa
RESEE NEURE: -PP; -10..480°C

-PVDF; -10...+100°C
IR -40..+85°C

WHES 4...20mA,HART®

R DC 10...30V

MEEE <+0.5mm

DD <0.1mm

k=1 max.900Q@30V

RHER = H+30°

BAtr R IP68 {i#& EN60529/IEC60529

£6/9T1 i (WIKA ) #3E& £ LM20.01- 09/2015



BRT iFER(K) HRFRZ)

gC ©C

gA QA

D = J¥BR85% AR Z MG S 2
E = JFIRE0% AR Z T AR E

=51k
BEC

TEE4M316L5316Ti 14 z 44 52 15 1.6 200 818 1,390 V44A

14 K 52 52 15 4.0 200 769 1,307 V52A

14 K 62 61 15 3.2 200 597 1,015 V62A

14 K 83 81 15 25 200 408 693 V83A

18 K 80 76 23 25 200 679 1,155 V80A

18 K 98 96 23 25 200 597 1,016 VO8A

18 K 105 103 23 25 200 533 907 V105A

18 K 120 117 23 25 200 389 661 -

18 K 120 116 38 25 200 537 914 V120A
€K 228 14 z 44 52 15 1.6 200 720 1,224 T44A

14 K 52 52 15 25 250 707 1,201 T52A

14 K 52 52 15 11.0 250 1,040 1,770 T52A/0.8

14 K 62 62 15 25 250 505 859 T62A

14 K 83 81 15 25 250 278 473 T83A

18 K 80 76 23 25 250 665 1,130 T80A

18 K 98 96 23 25 250 595 841 T98A

18 K 105 103 23 25 250 369 627 T105A

18 K 120 117 23 25 250 329 560 T120A
PVC 16 z 55 54 22 0.3 60 798 1,357 P55A

20 z 80 79 25 0.3 60 537 974 P80A
PP 16 z 55 54 22 0.3 80 582 989 PP55A

20 z 80 79 25 0.3 80 431 723 PP80A
PVDF 16 z 55 69 22 0.3 100 821 1,396 PF55A

20 z 80 79 25 0.3 100 681 1,157 PF80A
BAR
REE4M316L ( 1.4435) 17.2 K 80 88 23 1.6 150 790 1,350 V80/88/R4/3A/35
TEEM316L ( 1.4539) 17.2 K 80 76 23 1.6 150 621 1,056 V80/R4/3A/3G

IR KSREBFFRE MM E I & EEF K

BT (WIKA) $3E#ERE LM20.01- 09/2015 FE7/9T1



Tk B 2 e o 3 X 3%

SR A
FFG-P. [2 [2 [H]XJO[ X] - [X]X] XX] X] -[ XXXX |
WESEE, #AImm
f1: 0600 =600 mm

4 [1.4571 (SS316Ti)
C|2.4819 (HC276)
H|2.4610 (HC4) ERR
| [1.4539 (SS904L)
S SS304
L |SS316L

#d  |[HART (4..20mA) |H XX | WEERFI R SFER

IERBA IR 1 S|IM16x1,5
PrBER  |Exia 2 TIM20x1,5 B4TH O
Exd 3 N [1/2" NPT
_ |xEx N| [u]tn oo
Br e 5 olrs BELRENE
SFEK

Al PR S SFERI R

C1 V44A(SZ0441570259) 316Ti

c2 HC44A HC

C3 ZVS45/120/17, 3/INTF 316Ti

B1 V52A(SK0521550359) 316Ti

B2 V62A 316Ti

B3 V80A 316Ti

B4 V83A 316Ti

B5 V120A 316Ti

L1 V44A 316L

L2 V52A 316L

L3 V83A 316L

T1 T44A Ti

T2 T52A Ti

T3 T62A Ti

T4 T80A Ti

T5 T83A Ti

CX HAbANAR AT FER 316Ti, 316L, Ti, HC

BX HALAR IR 25k 316Ti, 316L, Ti, HC

1Tl FFG-P.22H30D-UTC1L-2000

2£8/9T1 B~ (WIKA) $3E7%% LM20.01 - 09/2015



09/2015 EN

iTHER

RS/ RA/ BREE / IEEE/ SREER/ SREKE (FAKE) L/100 %4RAL1/ WESEEM (0% - 100 %E7E ) /

WS ( TEREMES, RREE) /&4

© 2010 WIKA Alexander Wiegand SE & Co. KG , hR#XUFFE
AL AR B IR AR AR A ST HE AR B 7= ) TARIR TS
BAVRBEE = RIS R A9

B+ (WIKA ) £3EZ#E LM20.01- 09/2015

IWIKA!I

EHRBEENER (FHM) BRAS
HFERRZES ( LE) BRAS
Bi&: (+86) 4009289600
%H. (+86) 51268780300
HR48 . 400@wikachina.com
www.wika.cn

9/971



	01封面
	02
	03
	04
	05
	06
	07
	08
	09
	10
	11
	12
	13
	14
	16封底



